https://ojs.pphouse.org/index.php/IJBSM



Article AR3418

IJBSM July 2023, 14(7):978-985 Research Article Print ISSN 0976-3988 Online ISSN 0976-4038

Natural Resource Management

DOI: HTTPS://DOI.ORG/10.23910/1.2023.3418

Study of Genetic Variability for Yield and Yield Attributes and Bran Oil Content in Maintainer Lines of Rice (*Oryza sativa* L.)

B. Edukondalu¹[©], V. Ram Reddy¹, T. Shobha Rani¹, CH. Aruna Kumari² and B. Soundharya³

¹Dept. of Genetics and Plant Breeding, ²Dept. of Crop Physiology, Agriculture College, Jagtial, PJTSAU, Telangana (505 529), India

³Dept. of Genetics and Plant Breeding, Regional Sugarcane and Rice Research Station, PJTSAU, Rudrur, Nizamabad, Telangana (503 188), India

Open Access

Corresponding ≥ edukondalu0208@gmail.com

0000-0002-1528-9690

ABSTRACT

The present investigation was carried out during *kharif*, 2016 (June to October) at Regional Agricultural Research Station, Jagtial, Telangana, India to study the phenotypic coefficient of variation and genotypic coefficient of variation, heritability (bs), and genetic advance (GA) for yield contributing characters of 40 maintainer lines of rice. The experiment was designed in RBD replicated twice. Analysis of variance revealed significant differences among rice lines for 15 quantitative traits. The phenotypic coefficient of variation (PCV) value was higher than the genotypic coefficient of variation (GCV), indicating a negligible environmental influence in the phenotypic expression of traits. The PCV and GCV values were highest for the grains panicle⁻¹ and moderate for bran oil percentage, indicating that these two characteristics have a higher variability within and between populations than other characteristics. All of the characters had high heritability. The range of bran oil content in the 40 maintainer lines used to assess the range of bran oil content was from 11.87% in line B11 to 19.35% in line JMS17B. The genetic advance show that traits such as the number of tillers plant⁻¹, test weight, L/B ratio, plant height, bran oil percentage, kernal breadth, grain yield plant⁻¹ and kernal length were selected. The genetic advance obtained from the high and moderate estimates indicate that the selection for these characters can be used to improve the yield of the crop.

KEYWORDS: Coefficient of variation, genetic advance, heritability, maintainer lines

Citation (VANCOUVER): Edukondalu et al., Study of Genetic Variability for Yield and Yield Attributes and Bran Oil Content in Maintainer Lines of Rice (*Oryza sativa* L.). *International Journal of Bio-resource and Stress Management*, 2023; 14(7), 978-985. HTTPS://DOI. ORG/10.23910/1.2023.3418.

Copyright: © 2023 Edukondalu et al. This is an open access article that permits unrestricted use, distribution and reproduction in any medium after the author(s) and source are credited.

Data Availability Statement: Legal restrictions are imposed on the public sharing of raw data. However, authors have full right to transfer or share the data in raw form upon request subject to either meeting the conditions of the original consents and the original research study. Further, access of data needs to meet whether the user complies with the ethical and legal obligations as data controllers to allow for secondary use of the data outside of the original study.

Conflict of interests: The authors have declared that no conflict of interest exists.

RECEIVED on 28th January 2023 RECEIVED in revised form on 16th June 2023 ACCEPTED in final form on 05th July 2023 PUBLISHED on 18th July 2023

1. INTRODUCTION

The development and widespread use of hybrid rice L varieties using male sterility and fertility restoration systems has been one of the turning moments in the history of rice improvement. The hybrid rice technology now in use seeks to increase yield through greater levels of exploitable heterosis (Islam et al., 2010). All of the hybrids that have been released in the nation are based on the Wild Abortive (WA) system, a single source of cytoplasmic male sterility (CMS). Hybrids with a narrow genetic base and genetic vulnerability may be more vulnerable to sudden outbreaks of disease and insect pests as a result of long-term reliance on a single CMS source. The incorporation of the alloplasmic cytoplasm of suitable species can potentially enhance the genetic basis of the sterile cytoplasm and decrease genetic vulnerability. (Hyde et al., 2012). Hence, it is essential to generate maintenance lines with a wide genetic basis for major biotic stresses in order to include them into CMS lines, which will aid in the generation of hybrids with resistance to major biotic stresses.

Genetic variability plays an important role in crop breeding for selecting the elite genotypes for making rapid improvement in yield and other desirable characters as well as is selecting the potential parent for hybridization programmes (Mishra et al., 2015). Greater the variability in a population, there will be the greater chance for effective selection for desirable types (Vavilov, 1951). The genotypic and phenotypic coefficient of variation helps in estimating the magnitude of genetic variation present in a population (Mallor et al., 2011b). Heritability (broad sense) is defined as the proportion of phenotypic variance comprising the sum of additive, dominance, and epistatic effects (Nyquist, 1991, Falconer and Mackay, 1996). Heritability is important parameter in quantitative genetics to determine the response to selection (Piepho and Mohring, 2007). Heritability estimates give a measure of transmission of characters from one generation to another (Sabri et al., 2020, Saidaiah et al., 2021a, Saidaiah et al., 2021b, Saidaiah et al., 2021c). knowledge of heritability of a trait assists in development of efficient breeding strategies by assessing the degree of transmissibility of a character (Porta et al., 2014, Netrapal and Chowdhary, 1988, Singh et al., 2010) and enables selection for enhancing the genetic progress (Ghodke et al., 2020, Gedam et al., 2021). There is a strong relationship between heritability and genetic advance. Genetic advance describes the degree of gain acquired in a trait under a particular selection pressure (Ogunniyan and Olakojo, 2014). High genetic advance along with high heritability offers the most effective condition for selection of a specific trait (Islam et al., 2016).

Rice bran is a by product of the rice milling process. In

several nations, including Japan, India, Korea, China, and Indonesia, rice bran oil (RBO) is widely used as a cooking oil. The benefits of rice bran oil for health and nutrition are also well-established. Gamma oryzanol, phytosterols, polyphenols, and squalene are just a few of the micronutrients found in RBO's unsaponifiable fraction, which is abundant in RBO. It contains a lot of omega-3 fatty acids and is high in the antioxidants oryzanol, tocotrienol, tocopherol, and squalene (Pali, 2013). The present study was aimed to investigate the phenotypic coefficient of variation and genotypic coefficient of variation, heritability (bs), and genetic advance (GA) for yield contributing characters of 40 maintainer lines of rice.

2. MATERIALS AND METHODS

The experimental investigation was conducted during *kharif*, 2016 (June to October) at Regional Agricultural Research Station, Polasa, Jagtial, Telangana State, India where all the 40 maintainer lines were sown in the nursery on raised beds in a Randomized Block Design replicated twice (Table 1). Twenty-five days old seedlings of each genotype were transplanted plot by adopting a spacing of 20 cm between rows and 15 cm between plants. Five plants of each genotype in each replication were selected are used to record data on days to 50% flowering (DFF), days to maturity (DM), plant height (PH), number of tillers per plant (NTPP), panicle length (PL), number of grains per panicle(NGPP), kernal length (KL), kernal breadth (KB) L/B ratio (L/B), 1000 grain weight (TW), hulling percentage (HL), milling percentage (ML), head rice recovery percentage (HRR), grain yield per plant (GYP), bran oil percentage (BO).

Table 1: List of rice genotypes (maintainer lines) utilized for the study

Sl. No.	Genotype	Source
1.	B1	RARS, Jagtial
2.	B2	RARS, Jagtial
3.	B3	RARS, Jagtial
4.	B4	RARS, Jagtial
5.	B5	RARS, Jagtial
6.	B6	RARS, Jagtial
7.	B7	RARS, Jagtial
8.	B8	RARS, Jagtial
9.	B9	RARS, Jagtial
10.	B11	RARS, Jagtial
11.	B12	RARS, Jagtial
12.	B13	RARS, Jagtial
13.	B15	RARS, Jagtial

Table 1: Continue...

			Canotypic coefficient of variation-10 anotypic standard				
Sl. No.	Genotype	Source	deviation/Mean)×100				
14.	B16	RARS, Jagtial	Phenotypic coefficient of variation=(Phenotypic standard				
15.	B17	RARS, Jagtial	deviation/Mean)×100				
16.	B18	RARS, Jagtial	Categorization of the range of variation was effected as				
17.	B19	RARS, Jagtial	proposed by Sivasubramanian and Madhavamenon (1973).				
18.	B20	RARS, Jagtial	<10%: low				
19.	B22	RARS, Jagtial	10–20%: Moderate				
20.	B23	RARS, Jagtial	>20%: high				
21.	B24	RARS, Jagtial	2.3. Heritability and genetic advance				
22.	B35	RARS, Jagtial	2 3 1 Heritability				
23.	B42	RARS, Jagtial	Heritability in the broad sense refers to the proportion of				
24.	B86	RARS, Jagtial	genotypic variance to the total observed variance in the				
25.	B88	RARS, Jagtial	total population. Heritability (h ²) in the broad sense was				
26.	JMS11B	RARS, Jagtial	calculated according to the formula given by Allard (1960).				
27.	JMS13B	RARS, Jagtial	$h^2 = \sigma_g^2 / \sigma_p^2$				
28.	JMS14B	RARS, Jagtial	Where,				
29.	JMS17B	RARS, Jagtial	h²=Heritability in broad sense				
30.	JMS18B	RARS, Jagtial	σ^2_{a} =Genotypic variance				
31.	JMS19B	RARS, Jagtial	σ^2 =Phenotypic variance (σ^2)+(σ^2)				
32.	JMS20B	RARS, Jagtial	$\sigma^2 = \text{Environmental variance}$				
33.	JMS21B	RARS, Jagtial	As suggested by Johnson et al. (1955) (h^2) estimates were				
34.	CMS11B	IRRI, Philippines	categorized as:				
35.	CMS14B	IRRI, Philippines	Low: 0–30%				
36.	CMS23B	IRRI, Philippines	Medium: 30–60%				
37.	CMS46B	IRRI, Philippines	High: Above 60%				
38.	CMS52B	IRRI, Philippines	24 Genetic advance (Frebected)				
39.	CMS59B	IRRI, Philippines	Constituted and and (Experied)				
40.	CMS64B	IRRI, Philippines	in the next generation by selecting superior individuals under				
2.2 Statis	tical analysis		certain amount of selection pressure. From the heritability				
2.2. Statis	iance		estimates the genetic advance was estimated by the following				
The const	unite	mia varianza was salaulated as	formula given by Burton (1952).				
The genotypic and phenotypic variance was calculated as per the formulae (Burton and Devane, 1953)			$GA=K.h^{2}(b).\sigma_{p}$				
Genotypic	variance $(\sigma^2) = ($	Mean sum of squares due to	Where,				
treatments-Mean sum of squares due to error)/Number of			GA=Expected genetic advance				
replications			K=Selection differential, the value of which is 2.06 at 5%				
Phenotypi	c variance $(\sigma_{p}^{2})=(\sigma_{p}^{2})$	$(\sigma_{g}^{2})+(\sigma_{e}^{2})$	selection intensity				
Where, (o	²)=Error variance		σ_{p} =Phenotypic standard deviation				

Where, (σ_{e}^{2}) =Error variance

2.2. Genotypic and phenotypic coefficients of variance

The genotypic and phenotypic coefficients of variation were calculated according to the formula given by Falconer, (1981).

h² (b)=Heritability in broad sense

Genetic advance as per cent of mean=(GA/Grand mean)×100

The range of genetic advance as per cent of mean was classified as suggested by Johnson et al. (1955).

Low: less than 10%

Moderate: 10-20%

High: more than 20%

3. RESULTS AND DISCUSSION

The 40 maintainer lines for all 15 characters showed highly significant variance analysis differences (Table 2).

Table 2: Analysis of variance	for yield and yield attributes in	ı
40 maintainer lines of rice		

S1.	Character	Mean sum of squares							
No.		Replications	Treatments	Error					
		(d.f.=1)	(d.f.=39)	(d.f.=39)					
1.	Days to flowering	0.05	148.04**	0.53					
2.	Days to maturity	3.20	113.59**	1.40					
3.	Plant height (cm)	0.02	300.81**	1.69					
4.	No. of tillers plant ⁻¹	7.32**	9.70**	0.22					
5.	Panicle length (cm)	0.68	7.21**	0.48					
6.	No. of grains panicle ⁻¹	101.29	7828.56**	123.48					
7.	Kernel length (mm)	0.04*	1.08**	0.04					
8.	Kernel breadth (mm)	0.08	0.09**	0.05					
9.	L/B ratio	0.17	0.46**	0.01					
10.	Grain yield plant ⁻¹ (g)	1.18	15.36**	0.38					
11.	1000-grain weight (g)	0.90	20.37**	0.51					
12.	Hulling percentage	11.08**	19.95**	0.41					
13.	Milling percentage	0.06	24.82**	0.50					
14.	Head rice recovery	14.93*	47.72**	1.45					
15.	Bran oil percentage	0.93*	6.40**	0.20					

**: Significant at (*p*=0.01) level; *: Significant at (*p*=0.05) level

The lowest yield plant⁻¹ among the 40 maintenance lines was found by B88 with 19.00 g, the highest by B16 with 29.80 g, and the overall value was 24.91 g. The number of grains panicle⁻¹, a yield-related trait, wasrecorded as being lowest for B42 with 76.50 and highest for JMS 18B with 333.80, with a mean performance of 143.26 grains plant⁻¹ across all genotypes. With a mean performance of 12.57, the number of tillers plant⁻¹ varied from 7.70 in B88 to 16.70 in B18. With a mean value of 19.68 g, test weight ranged from 12.77 g for JMS17B to 25.75 g for B3. The mean performance was 14.96%, while B11 reported the lowest bran oil content 11.88%. JMS17B recorded the greatest bran oil content was 19.35% (Table 3).

It is calculated by dividing the standard deviation by the mean. A higher coefficient of variation indicates a higher degree of variability among the observations. A lower coefficient of variation indicates a lower degree of variability among the observations. The PCV is an estimate of how much variation there is in a given trait among individuals within a population. It is the ratio of the standard deviation of the observed phenotypic values to the mean. This measure is used to detect the differences in performance between individuals in a population. The GCV is an estimate of the degree of variability among individuals due to genetic factors. It is the ratio of the variance of the genotypic values to the mean. This measure is used to detect the differences in performance between individuals due to genetic factors. In general; the PCV will be much higher than the GCV because the environment can have a much larger effect on the expression of a trait than the genes can. However, it is important to note that the environment can also interact with the genetic factors to influence the expression of a trait, so the PCV and GCV may be similar in such cases (Table 3). Days to 50% blooming and kernal length (0.04%) were the lowest differences between PCV and GCV, followed by plant height (0.06%), days to maturity (0.08%), hulling percentage (0.08%), and milling percentage (0.09%). The change was less than 1%, showing that the environment had a relatively small impact on how each character expressed them. For hulling percentage and the number of grains panicle⁻¹, respectively, PCV ranged from 3.82% to 44.02% while GCV ranged from 3.74% to 43.33%. Number of tillers plant⁻¹, test weight, L/B ratio, plant height, bran oil percentage, kernal breadth, grain yield plant⁻¹, and kernal length all had moderate PCV and GCV estimations (10-20%). Early reports by (Padmaja et al., 2008, Mishu et al., 2016). The High PCV and GCV estimates for number of grains panicle⁻¹ of ample variability among the rice genotypes and the possibility of improvement through selection. Early reports by (Gangashetty et al., 2013).

Heritability ranged from 87% in panicle length to 99% in

International Journal of Bio-resource and Stress Management 2023, 14(7):978-985

Table 3: Genetic parameters for 15 characters estimated from 40 maintainer lines											
Characters	Range		mean	CV	CD (<i>p</i> =0.05)	SEm±	Coefficient of variation %			h ²	GA (%)
	lowest	highest					ECV PCV GCV		GCV		
DFF	74.50	118.50	86.20	0.8503	1.48	0.52	0.85	10.00	9.96	0.99	20.45
DM	109.50	149.50	120.65	0.9825	2.40	0.84	0.98	6.29	6.21	0.98	12.63
PH	77.60	151.00	101.03	1.2877	2.63	0.92	1.29	12.17	12.11	0.99	24.8
NTP	7.70	16.70	12.57	3.7825	0.96	0.34	3.78	17.73	17.33	0.96	34.87
PL	17.50	27.90	24.31	2.8752	1.41	0.49	2.88	8.07	7.54	0.87	14.52
NGP	76.50	333.80	143.26	7.7571	22.48	7.86	7.76	44.02	43.33	0.97	87.86
KL	5.15	8.25	6.76	0.9756	0.13	0.05	0.98	10.90	10.86	0.99	22.27
KB	1.65	2.70	1.92	3.7484	0.15	0.05	3.75	11.82	11.21	0.9	21.91
LB	2.06	4.40	3.56	3.58	0.26	0.09	3.58	13.79	13.31	0.93	26.48
GYP	19.00	29.80	24.91	2.47	1.25	0.44	2.47	11.27	10.99	0.95	22.09
STW	12.77	25.75	19.68	3.66	1.46	0.51	3.66	16.42	16.01	0.95	32.15
HL	75.11	89.76	83.62	0.77	1.30	0.46	0.77	3.82	3.74	0.96	7.54
ML	68.91	80.90	75.81	0.93	1.43	0.50	0.93	4.69	4.60	0.96	9.29
HRR	51.73	71.89	64.04	1.88	2.44	0.85	1.88	7.74	7.51	0.94	15.01
BO	11.88	19.35	14.96	3.03	0.92	0.32	3.03	12.15	11.77	0.94	23.48

Days to 50% flowering followed by (99%), plant height (99%) and kernel length (99%). Among 40 maintainer lines, heritability for all the characters was high also reported by Padmaja et al. (2008), Manjunatha and Kumara (2019), Jayasudha and Sharma (2010), Fiyaz et al. (2011) and Anyaoha et al. (2018). Genetic gain is the improvement in the average value of a trait within a given population over time. This is typically achieved through selective breeding, in which the most desirable traits are allowed to reproduce, thus increasing the frequency of those traits in the population. A high heritability value for character does not always turn into a high genetic gain according to Panse and Sukatme (1954), because heritability only measures the amount of variation in a trait that can be explained by genetic factors. It does not measure the amount of genetic gain that can be achieved through selective breeding or other genetic manipulation. Genetic gain is the increase in the value of a trait resulting from selection or other genetic manipulation. The anticipated genetic gain would be low if the heritability was primarily caused by non-additive genetic effects (dominance and epistasis), and large if the heritability was primarily caused by additive effects. Therefore, estimating genetic advancement as a percentage of the mean can be used as a direction in this regard.

Genetic advance is the gradual change in the genetic composition of a population over time, usually due to natural selection. This process is also known as evolutionary change. It can also be caused by artificial selection, which is when breeders select for certain traits in an organism. Genetic advance can lead to new species or changes in existing species over time.

Estimates of genetic advance for head rice recovery, panicle length, and days to maturity were moderate. High genetic advancement in terms of grain panicle⁻¹, tillers plant⁻¹, test weight, L/B ratio, plant height, bran oil percentage, kernal length, and days to 50% flowering. All of these traits displayed estimates of moderate to high genetic advancement, suggesting that selection for these traits will be successful for further improvement, as earlier reported by Manjunatha and Kumara (2019) and Padmaja et al. (2008).

The range of variation observed for bran oil content ranged from 11.87 to 19.35% with a mean value of 14.95%. The genotype B11 (11.87%) had low bran oil content while the genotype JMS17B (19.35%) had maximum bran oil content. Highest bran oil content was recorded four genotypes JMS19B (19.35%), B23 (18.70%), B35 (18.55%) and B42 (18.00) presented in (Table 4). In almost a similar findings, rice bran contained 18–23% oil. It is oil that is abundant in both vital fatty acids and nutritional components (Roberts et al., 2019). According to Awad-Allah et al. (2022) stabilised rice bran NRL 66 had the highest crude protein content, which was 17.85% and 17.75%, followed by NRL63, which had a value of 17.38% and 17.30%, and NRL64 had the lowest value, which was 16.36% and 16.30% for stabilised rice bran over the two years, respectively.

Table 4: Mean of 15 characters in 40 maintainer lines of rice															
Lines	DFF	DM	PH	NTPP	PL	NGPP	KL	KB	L/B	GYP	TW	HL	ML	HRR	BO
B1	85.50	119.50	96.00	12.50	25.80	78.50	6.45	1.85	3.49	25.00	19.65	86.76	74.18	65.64	13.10
B2	88.50	122.50	93.55	9.55	26.10	125.50	6.85	1.95	3.52	21.15	18.50	81.87	73.03	69.88	12.85
B3	84.50	119.50	99.95	10.10	26.80	81.50	6.65	2.35	2.83	22.15	25.75	85.78	69.99	61.63	13.10
B4	88.00	122.00	90.85	14.70	21.85	82.76	6.45	1.75	3.69	27.00	17.96	88.22	74.65	57.95	12.65
B5	75.50	111.00	95.65	16.20	24.00	152.80	6.85	1.95	3.52	29.45	21.00	81.58	77.93	67.89	13.80
B6	76.50	112.00	102.30	12.70	23.80	146.50	6.65	1.95	3.41	24.00	20.09	83.12	78.30	69.61	16.25
B7	87.50	121.50	100.20	13.50	24.40	141.50	6.45	1.85	3.49	26.10	19.00	84.82	77.23	68.10	13.75
B8	76.50	111.00	103.50	14.30	24.40	97.63	6.45	1.80	3.59	27.75	18.60	84.17	78.65	71.89	13.90
B9	84.00	117.50	106.20	11.50	25.50	86.78	8.05	1.85	4.35	25.05	18.99	76.83	76.89	67.80	13.90
B11	85.50	119.50	98.65	14.35	24.90	184.50	7.30	1.95	3.74	27.90	21.75	79.46	75.05	62.83	11.88
B12	85.00	119.50	99.50	11.50	23.70	86.50	6.45	1.95	3.31	25.10	20.58	79.75	75.06	60.73	14.03
B13	75.50	111.00	92.10	9.70	25.50	94.50	6.95	2.05	3.39	22.20	22.00	81.56	78.10	65.90	14.93
B15	76.00	114.50	101.70	13.10	24.60	102.50	7.85	2.05	3.83	26.10	21.50	83.19	72.74	69.00	16.77
B16	84.50	119.00	96.90	16.10	25.00	139.50	7.15	1.95	3.67	29.80	24.47	84.96	77.29	59.78	14.25
B17	84.50	117.50	114.40	12.70	25.70	125.60	7.45	1.95	3.82	24.00	23.23	80.94	80.00	63.83	14.02
B18	87.50	122.50	117.50	16.70	27.90	85.50	7.45	1.85	4.03	29.60	20.85	85.92	78.40	51.73	14.29
B19	85.50	119.50	106.10	14.50	24.70	129.50	7.05	2.05	3.44	26.05	23.05	87.07	75.65	54.66	14.24
B20	84.50	118.50	103.10	14.50	26.10	162.70	8.25	2.05	4.03	25.00	23.17	84.06	78.86	63.57	14.20
B22	94.50	128.50	112.00	13.70	23.00	143.70	8.05	1.95	4.13	25.15	18.45	85.72	68.91	61.74	15.00
B23	77.50	113.50	99.30	11.10	20.90	115.90	7.25	1.65	4.40	22.75	15.08	84.20	72.87	68.52	18.70
B24	86.50	120.50	106.70	9.90	24.90	199.50	5.85	1.65	3.55	21.00	16.78	80.52	69.72	66.10	16.45
B35	93.50	126.50	113.90	15.00	25.90	195.50	6.05	1.85	3.27	28.65	17.16	86.11	80.18	68.57	18.55
B42	98.50	131.50	151.00	14.10	25.80	76.50	6.65	2.55	2.61	26.75	24.07	83.80	71.75	69.87	18.00
B86	99.00	109.50	115.60	11.70	25.20	135.50	7.15	2.05	3.49	23.70	19.96	85.18	69.80	63.03	15.40
B88	74.50	118.50	93.30	7.70	17.50	84.73	5.55	2.70	2.06	19.00	19.87	75.11	69.75	68.69	18.95
JMS11B	83.50	118.50	98.90	9.80	25.00	121.50	6.85	1.85	3.71	20.00	19.55	83.10	71.20	56.58	16.25
JMS13B	93.50	128.50	97.10	11.00	23.40	177.50	6.15	1.75	3.51	25.49	18.22	77.76	75.71	63.66	14.00
JMS14B	96.50	131.50	101.70	14.10	22.30	205.50	5.55	1.65	3.37	25.80	13.61	81.07	78.94	67.95	14.25
JMS17B	90.50	124.50	111.95	12.60	24.40	270.80	7.45	1.85	4.03	25.00	12.77	84.94	79.73	67.84	19.35
JMS18B	89.50	125.00	101.20	12.10	23.60	333.80	7.25	1.65	4.40	24.90	13.00	85.48	80.86	65.73	16.00
JMS19B	91.50	126.50	80.60	13.40	23.20	267.50	5.25	1.85	2.84	26.25	15.97	88.10	76.67	57.11	14.50
JMS20B	83.50	119.00	103.10	14.80	24.40	277.50	5.15	1.65	3.13	27.26	13.22	84.08	78.07	67.88	14.25
JMS21B	77.50	112.50	97.10	8.30	23.20	220.50	6.00	1.75	3.43	19.35	20.80	80.95	80.22	64.08	16.25
CMS11B	74.50	110.50	82.50	14.90	23.30	90.50	6.65	1.85	3.60	28.05	21.66	86.18	78.94	62.21	14.07
CMS14B	86.50	121.50	92.30	10.10	23.70	84.50	6.75	1.95	3.46	22.15	18.91	83.67	78.20	57.87	15.63
CMS23B	77.50	121.50	84.10	10.10	22.30	96.70	6.05	2.05	2.95	22.35	23.34	87.62	80.90	58.24	14.00
CMS46B	118.50	149.50	96.60	13.30	25.20	121.80	7.15	2.05	3.49	26.10	21.75	84.89	71.14	64.81	14.00
CMS52B	80.50	115.50	96.90	12.90	26.30	110.50	6.45	1.85	3.49	24.10	21.99	89.76	75.03	59.18	14.45
CMS59B	91.50	125.50	109.50	13.00	26.80	151.50	7.05	1.85	3.81	27.15	21.88	81.96	76.98	70.19	14.20
CMS64B	94.00	129.50	77.60	10.80	21.15	144.50	7.25	1.65	4.40	22.00	18.98	84.68	74.94	59.62	14.15

4. CONCLUSION

High heritability coupled with high genetic advance was observed for the characters grain panicle⁻¹, tillers plant⁻¹, test weight, L/B ratio, plant height, bran oil percentage, kernal length, and days to 50% flowering indicated importance of characters and selection for these traits may be effective.

7. REFERENCES

- Allard, R.W., 1960. Principles of plant breeding. Published by John Wiley and Sons Inc., New York, USA. 485.
- Anyaoha, C., Felix, A., Uyokei, U., Bosede, P., Vernon, G., Semon, M., Ejiro, O., Mamadou, F., 2018.
 Genetic diversity of selected upland rice genotypes (*Oryza sativa* L.) for grain yield and related traits. International Journal of Plant and Soil Science 22(5), 1–9.
- Awad-Allah, M.M., Elekhtyar, N.M., El-Abd, M.A.E.M., Abdelkader, M.F., Mahmoud, M.H., Mohamed, A.H., El-Diasty, M.Z., Said, M.M., Shamseldin, S.A., Abdein, M.A., 2022. Development of new restorer lines carrying some restoring fertility genes with flowering, yield and grains quality characteristics in rice (*Oryza sativa* L.). Genes 13(3), 458.
- Burton, G.W., 1952. Quantitative inheritance in grasses. Proceeding on 6th International Grassland Congress Journal 1, 277–283.
- Burton, G.W., Devane, D.E., 1953. Estimating heritability in tall fescue (*Festuca arundinacea*) from replicated clonal material 1. Agronomy journal 45(10), 478–481.
- Falconer, D.S., 1981. Introduction to quantitative genetics. Oliver Boyd, 340.
- Falconer, D.S., Mackay, T.F.C., 1996. An Introduction to Quantitative Genetics (4th Edn.). Prentice Hall, London, 480.
- Fiyaz, A.R., Ramya, K.T., Chikkalingaiahl, Ajay, B.C., Gireesh, C., Kulkarnil, R.S., 2011. Genetic variability, correlation and path coefficient analysis studies in rice (*Oryza sativa* L.) under alkaline soil condition. Electronic Journal of Plant Breeding 2(4), 531–537.
- Gangashetty, P.I., Salimath, P.M., Hanamaratti, N.G., 2013. Genetic variability studies in genetically diverse non-basmati local aromatic genotypes of rice (*Oryza sativa* L.). Rice Genomics and Genetics 4(2), 4–8.
- Gedam, P.A., Thangaswamy, A., Shirsat, D.V., Ghosh, S., Bhagat, K.P., Sogam, O.A., Gupta, A.J., Mahajan, V., Soumia, P.S., Salunkhe, V.N., Khade, Y.P., Gawande, S.J., Hanjagi, P.S., Singh, M., 2021. Screening of onion (*Allium cepa* L.) genotypes for drought tolerance using physiological and yield based indices through multivariate analysis. Frontiers in Plant Science 12,

600371.

- Ghodke, P., Khandagale, K., Thangasamy, A., Kulkarni, A., Narwade, N., Shirsat, D., 2020. Comparative transcriptome analyses in contrasting onion (*Allium cepa* L.) genotypes for drought stress. PLoS One 15, e0237457.
- Hyde, P.T., Earle, E.D., Mutschler, M.A., 2012. Doubled haploid onion (*Allium cepa* L.) lines and their impact on hybrid performance. HortScience 47(12), 1690–1695.
- Islam, M., Khalequzzaman, M., Bashar, M., Ivy, N., Haque, M.M., Mian, M.A.K., 2016. Variability assessment of aromatic and fine rice germplasm in Bangladesh based on quantitative traits. The Scientific World Journal 2016, 2796720.
- Islam, M.A., Mian, M.A.K., Rasul, G., Johora, S.U., 2010. Interaction effect between genotypes, row ratio and fertilizer dose on hybrid seed production of rice (*Oryza sativa* L.). Bangladesh Society of Agronomy 4, 134–141.
- Jayasudha, S., Sharma, D., 2010. Genetic parameters of variability, correlation and path-coefficient for grain yield and physiological traits in rice (*Oryza sativa* L.) under shallow lowland situation. Electronic Journal of Plant Breeding 1(5), 1332–1338.
- Johnson, H.W., Robinson, H.F., Comstock, R.E., 1955. Estimates of genetic and environmental variability of Soybeans. Agronomy Journal 47, 314–318.
- Mallor, C., Balcells, M., Mallor, F., Sales, E., 2011b. Genetic variation for bulb size, soluble solids content and pungency in the Spanish sweet onion variety Fuentes de Ebro response to selection for low pungency. Plant Breeding 130(1), 55–59.
- Manjunatha, B., Kumara, B.N., 2019. Genetic variability analysis for quantitative traits in rice (*Oryza sativa* L.). Journal of Experimental Agriculture International 30(4), 1–4.
- Mishra, A., Mishra, H.N.A., Senapati, N.B., Tripathy, P., 2015. Genetic variability and correlation studies in Okra (*Abelmoschus esculentus* (L.) Monech). Electronic Journal of Plant Breeding 6(3), 866–869.
- Mishu, M.F.K., Rahman, M.W., Azad, M.A.K., Biswas, B.K., Talukder, M.A.I., Kayess, M.O., Md. Rafiqul Islam, M.R., Alam, M.R., 2016. Study on genetic variability and character association of aromatic rice (*Oryza sativa* L.) cultivars. International Journal of Plant and Soil Science 9(1), 1–8.
- Netrapal, S.N., Chowdhary, B., 1988. Correlation and path coefficient studies in onion. Indian Journal of Horticulture 45, 295–299.
- Nyquist, W.E., 1991. Estimation of heritability and prediction of selection response in plant populations. Critical Reviews in Plant Sciences 10(3), 235–322.

- Ogunniyan, D.J., Olakojo, S.A., 2014. Genetic variation, heritability, genetic advance and agronomic character association of yellow elite inbred lines of maize (*Zea mays* L.). Nigerian Journal of Genetics 28, 24–28.
- Padmaja, D., Radhika, K., Rao, S., Padma, V., 2008. Studies on variability, heritability and genetic advance for quantitative characters in rice (*Oryza sativa* L.). Indian Journal of Plant Genetic Resources 21(3), 196–198.
- Pali, V., 2013. Rice bran oil-unique gift of nature: A review. Agricultural Reviews 34(4), 288–294.
- Panse, V.G., Sukatme, P.V., 1954. Statistical methods for agricultural workers. ICAR, New Delhi, 58.
- Piepho, H.P., Mohring, J., 2007. Computing heritability and selection response from unbalanced plant breeding trials. Genetics 177, 1881–1888.
- Porta, B., Rivas, M., Gutierrez, L., Galvan, G.A., 2014. Variability, heritability, and correlations of agronomic traits in an onion landrace and derived S1 lines. Crop Breeding and Applied Biotechnology 14(1), 29–35.
- Roberts, A., Solomon, E., Lobao, M., 2016. Rice bran: potential feed for fish, poultry. The National. Available at https://www.thenational.com.pg/ricebran-potential-feed-for-fish-poultry/. Accessed on 1st April, 2019.
- Sabri, R.S., Rafii, M.Y., Ismail, M.R., Yusuff, O., Chukwu, S.C., Hasan, N.A., 2020. Assessment of agro morphologic performance, genetic parameters and clustering pattern of newly developed blast resistant rice lines tested in four environments. Agronomy 10(8), 1098.

- Saidaiah, P., Pandravada, S.R., Geetha, A., 2021c. *Per se* performance and variability in dwarf roselle germplasm for yield and yield attributing traits. International Journal of Bio-resource and Stress Management 12(4), 271–277.
- Saidaiah, P., Pandravada, S.R., Sivaraj, N., Geetha, A., Lingaiah, N., 2021a. Understanding of yield stability in jack bean (*Canavalia ensiformis* L.) genotypes using AMMI and GGE bi-plot models. Legume Research, LR-4548.
- Saidaiah, P., Suchandranath, B.M., Srinivas, N., Geetha, A., Hari Kishan, S., Someswara Rao, P., Hari, Y., 2021b. Molecular characterization of Indian Dolichos bean (*Lablab purpureus* L. var. *typicus* Prain) accessions using RAPD markers. Indian Journal of Genetics and Plant Breeding 81(2), 322–326.
- Singh, R.K., Dubey, B.K., Bhonde, S.R., Gupta, R.P., 2010. Estimates of genetic variability and correlation in red onion (*Allium cepa* L.) advance lines. Indian Journal of Agricultural Sciences 80(2), 160–163.
- Sivasubramanian, S., Madhavamenon, P., 1973. Combining ability in rice. Madras Agricultural Journal 60, 419–421.
- Vavilov, N.I., 1951. Origin, variation, immunity and breeding of cultivated plants. Soil Science 72(6), 482.

